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PART A: Grammar and Vocabulary VA Aot s V1 ko
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct Y (St
choice on your answer sheet. A Healthy
Lifestyle
61- Last week, some robbers broke into the National Museum and took away some precioy ¥ e
police say that they are still after them and they ... yet. V4 axio 5 DA axiio
1) have been caught 2) weren’t caught
3) were caught 4) have not been caught

62- I enjoy ... in sunny Spain as long as possible with my family and friends during winter.
1) that stay 2) stay

3) to stay 4) staying

63- A: My wife doesn’t like the jewelry I bought for her birthday, so I have to give ... if you don’t

mind.

B: Don’t worry. It’s okay.
1) it back 2) itup
3) them back 4) them up

64- The tables were bought by the people who had responsibility in the town in 1456. Now, the ...
town is mainly known, visited and even respected for those famous tables.
1) invisible 2) complicated

3) ancient 4) imaginary

65- The ten-year-old kids were not able to figure out how to ... the measures of weight to Kilos, so
they asked their teacher to help them do it.
1) attack 2) convert

3) renew 4) compile

66- Some may become excited and nervous when something suddenly ... them of their past

experiences.
1) demands 2) reminds
3) consumes 4) absorbs

67- The local population agreed to pay for the locally-invented ... to be used to generate enough
electricity for the region and its four close neighbors.
1) creator 2) power

3) craft 4) turbine
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68- The last time she went mountain-climbing, she was hurt ... ; the weather was terrible and she
didn’t have enough items of clothing with her.
1) correctly 2) interestingly

3) physically 4) orally

69- Most of the time this ... is observed in children with mental problems or in those who go through

depression.
1) disorder 2) proportion
3) diet 4) device

70- Communication has changed a lot in the last two centuries for a/an ... of reasons the first of

which can be the invention of the telephone followed by numerous possibilities of

communication.
1) example 2) variety
3) source 4) string

71- How can you expect to ... your food properly when you eat your meals so fast?
1) generate 2) pollute
3) arrange 4) digest

72- After holding ... jobs in different states, he bought a small house and opened an office in New

York.
1) nervous 2) kinetic
3) hopeful 4) various

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

A lake is a large area of water ...(73)... by land on all sides. Really huge lakes are often called seas.
The Caspian Sea is an example. It is the largest inland ...(74)... of water in the world, and it is
believed to be home to many undiscovered creatures and animals of high economic value such as
sturgeon, a fish prized for its caviar, and also birds like flamingoes, geese, and swans.

Hunting birds is a/an ...(75)... sport throughout the Caspian states. They are hunted for their meat as
well as for their feathers; as a result, their population has greatly decreased, and some of them are in
danger of extinction. If local people ...(76)... so many birds, you could see much more beautiful

nature and wildlife in this region.

73- 1) contained 2) surrounded 3) avoided 4) introduced
74- 1) body 2) combination 3) continent 4) serving
75- 1) common 2) essential 3) suitable 4) minor

76- 1) hunted 2) would hunt 3) didn’t hunt 4) won’t hunt



wJtme/Azmoonha_Azmayeshi

u., . P _
w \§ dmio (U | pasmio ¢ g (9 20 ¢ 0L ) PR 198 (o gos A wiawl A Og03T —(0) 8395

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.

Scientists have found that influenza virus taken from humans can cause the disease in animals. In
addition, humans can catch the disease from animals. Among animals, a greater number of wild
birds seem to carry the virus without showing any signs of illness. Some scientists conclude that a
large family of influenza viruses may have infected some birds that have lived on the Earth for about
100 million years and are able to carry the viruses without even having the disease. There is even
enough data to show that different types of the viruse are transmitted from place to place and from
continent to continent by traveling birds.

It is known that two influenza viruses can combine when both are present in an animal at the same
time. The result of such combination is a great variety of the virus family. This raises the possibility
that a human influenza virus can combine with an influenza virus from an animal to produce an
entirely new kind. Research is being done to understand how this new type of influenza virus comes
into being. Another possibility is that two types of animal influenza viruses may combine in another

animal such as a pig to produce a new type which is then transmitted to humans.

77- What does the passage mainly discuss?
1) The possible ways in which new types of influenza viruses come to existence
2) The transmission of the influenza virus to different places by birds
3) The transmission of influenza virus from humans to animals

4) The possibility of carrying influenza virus without having the disease

78- The underlined relative pronoun “that” in paragraph 1 refers to ... .
1) viruses 2) a large family

3) birds 4) scientists

79- The phrase “comes into being” in paragraph 2 is closest in meaning to ... .
1) combines 2) develops

3) transmits 4) carries

80- All of the following can be the possible ways of producing new types of influenza virus EXCEPT

1) the combination of two influenza viruses in the same animal
2) the combination of animal viruses with human viruses
3) the combination of two animal viruses in another animal

4) the combination of two animal viruses in a human
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Part A: Grammar

Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

81-1f your mother cut down on fatty foods, she ... get fat. It’s not surprising that she is a bit depressed

now.
1) won’t 2) wouldn’t 3) doesn’t 4) didn’t
82-1 ... to my homeland where | haven’t been to since my childhood provided that I ... a bird.
1) will fly —am 2) flew — were 3) would fly — were 4) were flying — would be
83-Had they given Justin more time, he ... able to do a better job.
1) will be 2) were 3) was 4) would have been
84-1f your brother is still talking on the phone, ... him to hang up the phone.
1) tell 2) told 3) will tell 4) would tell
85-1f I had invested in ABC Plumbing, I ... a millionaire now.
1) will be 2) could be 3) can be 4) am
86-We are all aware of the fact that oil ... if you pour it on water.
1) floats 2) will float 3) would float 4) floated
87-The young queen insisted on what she said, “l wouldn’t say that ... .”
1) if | believed it 2) unless | didn’t believe it
3) if 1 don’t believe it 4) unless | believed it
88-George said if he ... any money left, he would have bought me a drink.
1) had 2) had had 3) has had 4) would have
89-..., they must be told to put their complaint in writing.
1) Were anyone objected 2) If anyone objected
3) Should anyone object 4) If anyone object
90-1f Matthew had set his alarm clock, he ... on the day he had an interview for a job with a publishing
firm.
1) hadn’t overslept 2) didn’t oversleep 3) doesn’t oversleep 4) wouldn’t have overslept

Part B: Vocabulary

Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

91-Luckily, blood tests ... a prior infection as a symptom of coronavirus, and it was a great relief for

my father.
1) drew up 2) broke out 3) ended up 4) ruled out
92-During the chaos, many police officers were ... from traffic duty to the riot police activities.
1) seconded 2) organized 3) replaced 4) selected
93-Medical teams were scrambling to ... the illness that had already killed many people in Latin America.
1) command 2) oppress 3) contain 4) attack

94-This team has the worst defence in the England Premier League, and they ... more than 3 goals
every match.
1) score 2) receive 3) concede 4) provide

95-1 felt certain the motorcycle was going to crash, judging by how dangerously it was ... through traffic.
1) pursuing 2) generating 3) measuring 4) weaving
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96-After much ..., my mother and | have decided to sell our old house and buy a new apartment, but it
is hard to convince my father.
1) consideration 2) inconstancy 3) improbability 4) generosity

97-1"ve gone to all this trouble to get you to the airport on time. You could at least be a little bit more

1) unsocial 2) renewable 3) appreciative 4) symmetric
98-Since seeing that horrible documentary about modern farming techniques, I’ve ... eating meat.
1) made out 2) gone off 3) held on 4) got along
99-1 want to emphasize that I’m not ... you, but you must admit your fault.
1) qualifying 2) bursting 3) contracting 4) criticizing
100-These two pictures are very ..., but if you look carefully, you’ll notice one or two differences.
1) alike 2) minor 3) equal 4) exact

101-The army pulled down the border posts ... before the conflict began which shows they had already
thought of the probable consequences of the proposal.

1) spaciously 2) shortly 3) indelibly 4) accidentally
102-According to a recent study, marriage breakdown in the West has reached crisis ... .
1) inspirations 2) recreations 3) explanations 4) proportions

103-Although he is always trying to ... taking a decision if he can help it, 1 don’t think he will hesitate
about this offer.
1) avoid 2) prevent 3) forbid 4) elicit

104-The charity is going to ... a call for donations to assist the victims of the massive earthquake which
hit the city last week.

1) decrease 2) issue 3) survive 4) require
105-We gave our daughter the ..., and she finally decided that she’d like a bike for her birthday.
1) choice 2) result 3) addition 4) contrast

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

106-
1) Air which is free to circulate all around the meat with this method of drying, and the product will dry
make quickly and uniformly.
2) With this method of dry, air is free circulate all around the meat and the product will dry more quickly
and uniformly.
3) Air which is free circulate all around the meat with this method of dry, and the product will dry most
quickly and uniformly.
4) With this method of drying, air is free to circulate all around the meat and the product will dry most
quickly and uniformly.
107-
1) There is nothing more annoyed than been interrupted when you are speaking about something of prime
importance.
2) There is nothing more annoying than being interrupted when you are speaking about something of
prime importance.
3) There is nothing more annoyed than being interrupting when you are speaking about something of
prime importance.
4) There is nothing more annoying than been interrupting when you are speaking about something of
prime importance.
108-

1) I wish I knew how we are going to keep paying the bills and find a job for you.
2) 1 wish I know how we are going to keep pay the bills and find a job for you.
3) I'wish | knew how we are going to keep pay the bills and find job for you.
4) 1 wish | know how we are going to keep paying the bills and find job for you.
109-
1) Giving the impression, my time in Italy | seem I didn’t enjoy. In the contrary, | had a wonderful time.
2) My time in Italy gave the impression | seem | didn’t enjoy. On the contrary, | had a wonderful time.
3) | seem to be giving the impression that | didn’t enjoy my time in Italy. On the contrary, | had a
wonderful time
4) In the contrary, my time in Italy gave the impression that | seem | didn’t enjoy. | had a wonderful time.
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110-
1) The rooms are very dark and smelly, and the heating is barely adequate, is it?
2) Very dark and smelly are the rooms, and the heating is adequate barely, isn’t it?
3) Are the rooms very dark and smelly, but the heating barely is adequate, is it?
4) Barely the heating is adequate but the rooms are very dark and smelly, isn’t it?
Part D: Language Function

Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1) , (2) , (3), or (4). Then mark the correct choice on your answer sheet.

A: So, how’s your relationship with your wife’s family?

B: Quite good. I...(111)... with my in-laws about almost everything, so we have a wonderful
relationship and rarely quarrel.

111- 1) bow and scrape 2) push up daisies
3) see eye to eye 4) pull my socks up
A: As a big brother, he was always pulling his sister’s ...(112)..., but he was there for her when
needed.
B: Almost all siblings are like that.
112- 1) wrist 2) leg
3) foot 4) hair
A: | suggest that if you are concerned, your time would be better spent in writing the article than in
...(113)... here.
B: You’re probably right.
113- 1) cutting corners 2) giving a tickle
3) pulling some strings 4) arguing the toss
A: He was ...(114)... when he gave up his job to start university. Now he has found out he can’t get a
grant.
B: Oh, I hope I don’t end like that.
114- 1) adrop in the ocean 2) jJumping the gun
3) once in a blue moon 4) jam tomorrow

A: Why do you have such an urge to repair your car?
B: Getting my car fixed is going to cost me a/an ...(115)... and a leg as the engine is completely
blown, but I have no choice. I need it for work.
115- 1) hand 2) head 3) eye 4) arm
A: | just heard Eric flunked our psych class! Is that true?
B: Yeah, I can’t believe it. It’s never happened to him before! He always gets straight A’s on the
pop quizzes and he even ...(116)... the mid-term. How could he possibly blow the final?
116- 1) bombed 2) blasted 3) aced 4) spoiled
A: Look at this pastry section. It’s to die for! Just look at all these cakes! The smell of these pastries
is making my mouth water.
B: Wait! Did you see the price of these cakes? They cost a killing. What a ...(117)...!
A: Yeah, that’s right! Let’s just make one ...(118)... ourselves. It’ll be a lot cheaper.
117- 1) rip-off 2) hook-up 3) crack-down 4) tie-in
118- 1) piece of cake 2) from scratch 3) tough cookie 4) cheap shot
A: It’s a good thing we got tickets early. The movie is a sell-out!
B: They must have been promoting this movie for weeks. Now, it’s a/an ...(119)... .

A: I’ll say! At first, the critics said it was going to be a bomb and that the performers couldn’t
...(120)... . But they’re astonished at it now, and they have second thoughts about it.
119- 1) real flop 2) eager beaver
3) blockbuster 4) pipe dream
120- 1) give it their best shot 2) keep their nose clean
3) strike out on their own 4) act their way out of a paper bag

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the

correct choice on your answer sheet.
At first ...(121)... it might seem that a true artist is a solitary person in possession of a unique talent
...(122)... him from the rest of society. ...(123)... after further reflection, it is quite apparent that the
artist is a product of his society rather than a/an ...(124)... removed from that society. The ...(125)...
of an artist is a measure of the artist’s ability to work within the framework ...(126)... by society and
to mirror its values. It is the society that imposes a structure ...(127)... the artist. Societies have found
various methods to support and train their artists, be it the Renaissance system of royal support of
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121-
122-
123-
124-
125-
126-
127-
128-
129-
130-
131-
132-
133-
134-
135-

the sculptors of the period ...(128)... the Japanese tradition of passing artistic knowledge from father
to son. The artist is greatly affected by the physical resources of his society, too. The ...(129)... chosen
by the artist is a reflection ...(130)... of the artist’s perception of ...(131)... beauty but also of
resources that society has to supply. For instance, ...(132)... come from societies of shepherds.
Finally, the artist must reflect the values of the society in which he ...(133)... . The artist must serve
as a mirror of his society’s measure of perfection, and society's moral values must equally ...(134)...
reflected in art if it is to be ...(135)... accepted.

1) dime 2) glance 3) caution 4) predator

1) differentiates 2) that it differentiates  3) that differentiates 4) that is differentiated
1) But 2) And 3) Thus 4) So

1) fragrance 2) wrinkle 3) hail 4) entity

1) equivalent 2) amendment 3) genius 4) privilege

1) which imposed 2) to impose 3) imposed 4) imposing

1) to 2)on 3) at 4) with

1) whether 2) or 3) either 4) neither

1) medium 2) longevity 3) casserole 4) insomnia

1) nor 2) only not 3) not 4) not only

1) miserable 2) feasible 3) chaotic 4) aesthetic

1) woven woolen rugs  2) woolen woven rugs  3) rugs woolen woven 4) woolen rugs woven
1) toils 2) recoils 3) retrieves 4) deceives

1) to be 2) be 3) being 4) are being

1) universality 2) universe 3) universally 4) universal

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by
choosing the best choice (1), (2), (3) or (4). Then mark the correct choice on your answer sheet.

136-

PASSAGE 1

The cities in the United States have been the most visible sponsors and beneficiaries of projects that
place art in public places. They have shown exceptional imagination in applying the diverse forms of
contemporary art to a wide variety of purposes. The activities observed in a number of “pioneer” cities
sponsoring art in public places — a broadening exploration of public sites, an increasing awareness
among both sponsors and the public of the varieties of contemporary artistic practice, and a growing
public enthusiasm — are becoming increasingly characteristic of cities across the country. With many
cities now undergoing renewed development, opportunities are continuously emerging for the inclusion
of art in new or renewed public environments, including buildings, plazas, parks, and transportation
facilities. The result of these activities is a group of artworks that reflect the diversity of contemporary
art and the varying character and goals of the sponsoring communities.

In sculpture, the projects range from a cartoonlike Mermaid in Miami Beach by Roy Lichtenstein
to a small forest planted in New York City by Alan Sonfist. The use of murals followed quickly upon
the use of sculpture and has brought to public sites the work of artists as different as the realist
Thomas Hart Benton and the pop artist Robert Rauschenberg. The specialized requirements of
particular urban situations have further expanded the use of art in public places: in Memphis,
sculptor Richard Hunt has created a monument to Martin Luther King, Jr., who was slain there; in
New York, Dan Flavin and Bill Brand have contributed neon and animation works to the
enhancement of mass transit facilities. And in numerous cities, art is being raised as a symbol of the
commitment to revitalize urban areas.

By continuing to sponsor projects involving a growing body of art in public places, cities will
certainly enlarge the situations in which the public encounters and grows familiar with the various
forms of contemporary art. Indeed, cities are providing artists with an opportunity to communicate
with a new and broader audience. Artists are recognizing the distinction between public and private
spaces, and taking that into account when executing their public commissions. They are working in
new, often more durable media, and on an unaccustomed scale.

What is the passage mainly about?

1) The influence of art on urban architecture in the United States cities
2) The growth of public art in the United States cities

3) The increase in public appreciation of art in the United States

4) The differences between public art in Europe and the United States
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137-

138-

139-

140-

According to the passage, new settings for public art are appearing as a result of ... .
1) communities that are building more art museums

2) artists who are moving to urban areas

3) urban development and renewal

4) an increase in the number of artists in the United States

The underlined word “enhancement” in paragraph 2 is closest in meaning to ... .

1) replacement 2) design 3) improvement 4) decoration
The underlined word “that” in paragraph 3 refers to ... .

1) contemporary art 2) opportunity

3) audience 4) distinction

According to paragraph 3, artists who work on public art projects are doing all of the following

EXCEPT ....

1) creating artworks that are unusual in size

2) raising funds to sponsor various public projects

3) exposing a large number of people to works of art

4) using new materials that are long-lasting

PASSAGE 2
The invention of the light bulb by Thomas A. Edison in 1879 created a demand for a cheap, readily
available fuel with which to generate large amounts of electric power. Coal seemed to fit the bill,
and it fueled the earliest power stations (which were set up at the end of the nineteenth century by
Edison himself). As more power plants were constructed throughout the country, the reliance on
coal increased. Since the First World War, coal-fired power plants have accounted for about half of
the electricity produced in the United States each year. In 1986, such plants had a combined
generating capacity of 289,000 megawatts and consumed 33 percent of the nearly 900 million tons
of coal mined in the country that year. Given the uncertainty in the future growth of nuclear power
and in the supply of oil and natural gas, coal-fired power plants could well provide up to 70 percent
of the electric power in the United States by the end of the century.

Yet, in spite of the fact that coal has long been a source of electricity and may remain one for
many years (coal represents about 80 percent of United States fossil-fuel reserves), it has actually
never been the most desirable fossil-fuel for power plants. Coal contains less energy per unit of
weight than natural gas or oil; it is difficult to transport, and it is associated with a host of
environmental issues, among them acid rain. Since the late 1960s, problems of emission control and
waste disposal have sharply reduced the appeal of coal-fired power plants. The cost of ameliorating
these environmental problems, along with the rising cost of building a facility as large and complex
as a coal-fired power plant, has also made such plants less attractive from a purely economic
perspective.

Changes in the technological base of coal-fired power plants could restore their attractiveness,
however. Whereas some of these changes are evolutionary and are intended mainly to increase the
productivity of existing plants, completely new technologies for burning coal cleanly are also being
developed.

141-What is the main idea of the passage?

1) Coal is a safer and more dependable fossil fuel than oil or gas.

2) Generating electricity from coal is comparatively recent in the United States.

3) Coal is a more economical fuel than either oil or nuclear power.

4) Coal-fired plants are an important source of electricity in the United States and are likely to remain so.

142-Edison’s electric light bulb is mentioned in the passage because it ... .

1) replaced gas as a light source

2) was safer than any other method of lighting

3) increased the need for electrical power

4) could work only with electricity generated from coal

143- It can be inferred from the passage that coal became the principal source of electricity in the United

States because it ... .
1) required no complicated machinery 2) burned efficiently
3) was easy to transport 4) was comparatively plentiful and inexpensive

144-1n the author’s opinion, the importance of coal-generated electricity could increase in the future for

which of the following reasons?
1) The possible substitutes are too dangerous.
2) The cost of changing to other fuels is too great.
3) The future availability of other fuels is uncertain.
4) Other fuels present too many environmental problems.
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145- Acid rain is mentioned in the passage for which of the following reasons?
1) It reduces the efficiency of coal-fired plants.
2) It increases the difficulty of transporting coal.
3) It is an environmental problem associated with coal use.
4) It contains less energy per unit of weight than coal does.
PASSAGE 3
The origins of nest-building remain obscure, but current observation of nest-building activities
provide evidence of their evolution. Clues to this evolutionary process can be found in the behavior

and movements of birds during mating, such as incessant pulling at strips of vegetation or scraping
of the soil. During the early days of the reproductive cycle, the birds seem only to play with the
building materials. In preparation for mating, they engage in activities that resemble nest-building,
and continue these activities throughout and even after the mating cycle. Effective attempts at
construction occur only after mating.

Although nest-building is an instinctive ability, there is considerable adaptability in both site
selection and use of materials, especially with those species which build quite elaborate constructions.
Furthermore, some element of learning is often evident since younger birds do not build as well as
their practiced elders. Young ravens, for example, first attempt to build with sticks of quite
unsuitable size, while a jackdaw’s first nest includes virtually any movable object. The novelist John
Steinbeck recorded the contents of a young osprey nest built in his garden, which included three
shirts, a bath towel, and one arrow.

Birds also display remarkable behavior in collecting building materials. Crows have been seen to
tear off stout green twigs, and sparrowhawks will dive purposefully onto a branch until it snaps
and then hang upside down to break it off. Golden eagles, over generations of work, construct
enormous nests. One of these, examined after it had been dislodged by high winds, weighed almost
two tons and included foundation branches almost two meters long. The carrying capacity of the
eagles, however, is only relative to their size and most birds are able to carry an extra load of just
over twenty percent of their body weight.

146-The underlined word “obscure” in line 1 is closest in meaning to ... .
1) interesting 2) unclear 3) imperfect 4) complex
147-According to the passage, which of the following activities is characteristic of the early part of the
reproductive cycle of birds?
1) Selecting a mate 2) Collecting nest-building materials
3) Playing with nest-building materials 4) Building a nest
148-The novelist John Steinbeck is mentioned in the passage because he ... .
1) conducted a scientific study on the behavior of ospreys
2) was the first to describe where ospreys built their nests
3) described the materials ospreys can use to build their nests
4) compared the size of osprey nests with the nests of other species
149-The underlined word “these” in paragraph 3 refersto ... .
1) golden eagles 2) generations 3) nests 4) winds
150-According to the passage, when gathering materials to build their nests, sparrowhawks do which of
the following?
1) Hang upside down 2) Select only green twigs
3) Use objects blowing in the wind 4) Collect more branches than necessary
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